Transforming Linear Functions Test
Name ___________________________                         
1.
If g(x) is a vertical translation 5 units down of f(x) = 3x + 4 , what is the rule for g(x)?

2.
If g(x) is a vertical stretch by a factor of 3 of f(x) = 3x  - 1, what is the rule for g(x)?

3. Which of these describes the transformation in terms of f(x)?


Horizontal translation 6 units left


A
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4. Which of these describes the transformation in terms of f(x)?


Vertical compression of 
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5. Which transformation describes the equation from its parent equation  f(x) = x?



[image: image8.wmf](

)

10

fx



A  horizontal shift left 10 units



B   vertical shift up 10 units


C  vertical stretch by a factor of 10

6.  Which transformation describes the equation from its parent equation?
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A   horizontal shift right 9 units



B   vertical shift up 9 units


C   vertical stretch by a factor of 9

7.    
f (x) =  2x – 3  ; shift the graph vertically 2 units down
_____________________


8.
f (x) = x – 3; horizontal stretch by a factor of 3
_____________________


9.
f (x) = 
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 + 2 ; vertical compression by a factor of 
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_____________________

For 10,11 and 12 use  :   y = 2x + 4 (reuse for each one)

10.
Horizontal stretch by a factor of 5
_____________________


11.
Vertical shift down 3 units
_____________________


12.  Reflection across the x-axis 

_____________________
For 13, 14 and 15  use  :   y = -2x + 6

13.
Horizontal stretch by a factor of 5 followed by a horizontal 
shift right 2 units
_____________________


14.
Vertical shift down 3 units followed by a vertical compression 
by a factor of 
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_____________________


15.  Reflection across the y-axis followed by 
a vertical shift up 4 units
_____________________

16. Pete charges $50 for a visit and $25 an hour for every hour he stays.  

a. Write the equation   _________________________________
b.  What if Pete charges  $20 more just for a visit. What kind of change would that be?  ______________________
c. What if Pete charges $5 more each hour. What kind of change would that be?  ________________________
d.  What if Pete doubles all his charges. What kind of change would that be? ___________________________
e. What if Pete cut his hourly rate in half?  What kind of change would that be? ___________________________

f. What if Pete cut all his rates in half. What kind of change would that be? ___________________________
(Correct answers for above should be chosen from vertical shift, horizontal translation, vertical stretch, vertical compression, horizontal stretch, horizontal compression)
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